S u M PO v Third party verified

E p D Environmental Product Declaration
o . [ ]

JAPAN Confromance with

VERIFIED 1SO14025 | 1ISO14040 ‘ 1ISO14044
SUMPOERIEINIL 053 L (SUMPO EPD)

2 A
DAIKEN Yl

Customwood / DSL MDF
Customwood / DSL MDF

BEHRES REIEEEH ~FA REEE hEARE EPDYM1S
SuMPO-EPD-2512-39-1 2025/12/15 2025/12/25 2030/12/14 IV -TEREPD
HEFSNSABIRARE
BANDEMMIEIE EPDIMREEHARI THoTE, EHE LI ARNPILLBBIERHYET,
EPDORFRE LU B EZRERT BICIEU T EREEL TS,
1ISO21930:2007

https://ecoleaf-label.jp/epd/search



SuMPO

Z##&S) SuMPO-EPD-2512-39-1

.E

Environmental Product Declaration for Customwood / DSL MDF

JAPAN

VERIFIED

Q@ EKIEIR
>T0J5L1ER
TOJSL%&FR SUMPORRIEINIFOIS L
TOISLARL-5-  —BHEFEEAY AT T IVRE HEEERE
FrTEHE HRETARHEXAHET-14-8 KANDA SQUARE GATE 4F
J17YA4 b https://ecoleaf-label.jp

> GPI-PCR{E#

GPI SuMPO EPD Japan General Program Instructions v.2.1.1
PCRE& TR BERAAM - AREME (PREM)
PCRE#HZHES PA-121000-CF-01
PCREZE H 2023/11/17
K& T LF #

VEITIRVERR (TR) oot M A AT ILE RS

PCREZNEARR 2028/11/16
PCREITH — iR FEAY AT IR = HE RS
> MREETEER
1ISO14025 K% (MSO21930:2007 ICHE 1= 58 = E R EE
w O RER W AR
IREAEDTERE . BIIE1ZL3 - RALHRA(CLD - EPDY AT LER3
B=H R B=H MR [CKBE=ERT

RIEEEE (FTE) ot BB (RRFEEKXZF)

> BEHIRIE
B [1SO14040:2006 B 1SO14044:2006 [J 1SO14067:2018
MR B [SO14025:2006 B 1S021930:2007 L) 1S021930:2017
(1 EN15804+A2 [J EN50693:2019 [ I1SO/IEC63366:2025

EPDICEEHOIEHR RV EPDICRREHOIERICE T ZBRIBET RICOVTOEIFFEPDEVSEEENISEET, EPDOARICETEIRA S, BREEDOV
TIL. EPDEVEEEELTEMVEDELEE,

EPDOLLER(L, BREAOEEEZ T2 (CEELE L TRBINBINEESEWED, BRERICBIZEFOII1IV1II2FEEEL. BRERICE
WCRIEOABERELEYFTUAEERLTVZHEDHYET, EPDOLLBORCE BINEREFAETEMERTIPCRESIBL T,

EPDh‘EEEu(L%DL\ZL\é% HEERIHEEE IS LY TITONRINEBYE A,
2R B TS RE S ECHNIARIETT, MIBOASSLVBEAOE B —BERIUSNELOTHBYE A, £, BELLRIELES

’\O),E—JM’J?E%;*;“UH(%S’P;(%IE (FfEZBBLT\ANE) | YAVFHE CGREPARBICENLTOREBERETNE) 2EHERIEOTEHYIE

Ao
MEVIIEHWVZETEDRE. 71717V B8HERE R MU T1TTIIIAYRY MU HBEEE R, BE2YEEFEHR, B AJ0-ICRT 358158
[F. BEOHERZIIOVTOBERTEHYETA.

OEPDEVSEEEIEIR
E#xs . mEs  DAKENKAH ABEEMIE

EFT EREBTFAREXAHEAS-12-8 (EARNESERERC)
FLNEDhEE 03-6271-7630
LCAEEXEE (FTE) HHxE xsttov))
EERNE

1. EMEE KEBERVIYVERZ2EEAL. MELOSWEMER R 1R
2. BMEBE FEHISAH - -BEMRCEILICERERAEI ML EMER R 124
3. IVYZITUVIEE BEMORMHISHEIETER IYENYIVICYR-F

EEREME


https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/
https://ecoleaf-label.jp/

F#H&EFS) SUMPO-EPD-2512-39-1

Environmental Product Declaration for Customwood / DSL MDF

| ERTA T
BB TR Customwood / DSL MDF
HmnE -
ke  BEMILUERINZAMBELUREMRIDRE,
8.0 1 BEEE  739.7kg/m3 PR

AR ANy O0JOREICESD,

SuMPO

..E PD

JAPAN

VERIFIED

SHmMOMAE NE-PikEFM-BE AETH, F7EM BRAREOMEL

FH 224F
- ERARE ANEEREREBICEETHARONY . KMFEOBEMEIELTER
FHERE LRI

SEY N (BERS) Z1-Y-3VFI%

RE-BEEIEEDEY (EHA-EEROE0) OMMAFEHRERZFLL, MAFHPK
LAARZIE T O TR, W - BRI ERRMESDEEOTAFEREK]

HERIITOTREEMMER (MDF) T ENINTEEFREL, - 2R - BRGE

1 O
EES B PEEAEMAICED NS £,

KEITTYA b https://www.daiken.jp/industrialmaterials/mdf.html#

O KR UMEICRI 2B ER

BEBRESR EE (%)
AWM 70~95%

EER By 1~25%

Ko 5~13%

Z0ftb 0~1%
BEMBRER EE (%)

QL MHKRESEE
BH S8 = (kg-Q)

HmdlYOEYHERZERE -
RHTICOLZBEEMOEYHRREZERE -

B8
560~760
8~160
37~96
0~7

L
il

o
il

B E (kg-CO; eq)


https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html
https://www.daiken.jp/industrialmaterials/mdf.html

% L3 L= _ - _ _
Fi%&ES) SUMPO-EPD-2512-39-1 SUMPO

AAAAA

Environmental Product Declaration for Customwood / DSL MDF .. E p D

VERIFIED

OLCA BEIBHR
>EPDY1 /&R
BEI1T O BH—xg B J-TES O RIS
EPDYATS  YALIAT B FEYAL O #BHEY -
FRAE O $BEE B NEFSE O R&k(E O ERRfE
Hh IR A B J0-1\b

BHEG/EBIA S0 REPDTIWREREEEL VI ETOEET MET-YINEZITOT\BT8. EPDICH
EPDICHITBARMDERFA (FRAKREFIBREINTNS,

T =
R/ EBIERD (o o) o D91 BENELIMGNEET I, EBREAEEIL BN R

i gt
P e BEOEEE( (md) HLIOHEEURRY (X, EENEDITEELLS,
A O EPDD S %\?EZ%;%IJ%%%*MK ?Lﬁh‘i?&é%ﬁﬁ&%f:w\ ESHAMN (m3) HLEYDEEZICE
DKINEFEZAVTCEELE,
> LCABSEEER
SEHAL A 1m3H=Y
TEEMLEYOER
HAETO- (BRHMERITTD
(W7 TE)
JAT LEFR B Cradle-to Gate [1 Cradle-to-Gate with options | [ Cradle-to-Grave
LCAYI 1T MIiLCA for EPD Ver3.2.0.0
LCIT=INR-2 IDEAV3.1
BHELETIV SURZH) IPCC 2013 1004E. ZDH LIME2
ZOBONYIISIIRT-4 -
ZRT-IRE GPICHRED = RT-YmBamlLiT -9V TEEZ{To,

—RT-ANERMS —1-I-IVFIH

—RT-FINEHRE 202448 ~2025%3 7

Y mFxFEORYEN W 0/0770-F O -1/+1770-7F
B B EVvHiBOFINEENIVIA O Z0ft

BHEIC EE -

Bd2E®R WAH -

RITT -
> HEX R
BB =
P> Ij‘g:ltbb I JLTEE 77 JLTEE
B RS RS i T EX B i Sk FRARER P i
Al A2 A3 A4 A5 Bl B2 B3 B4 B> B6 B7 C1 C2 C3 C4 D
IR T <) I i =3 B b3
= . £ iz =
5 % i3 bk | Z | v | B 0
oA BN B O B B B ® v | @m v Hm Y :
o 0 % ©o I A R & F £ [ o ., 0 £ 0 g
A & % & 4 L ® = a4 ¢
- i % = =
LN N N N I N R
B EENR - EENRS



E#H&EFS) SUMPO-EPD-2512-39-1 SuMPO

Environmental Product Declaration for Customwood / DSL MDF .. E I D

JAPAN

VERIFIED

>7r0r-v3y

AEFETE. GPICREHOFIETCTOLAOM ML LU T7O-T—-v3avERs U,
T-ARENKROTIH CRMOMRZERELTEY. HREZOADTOTAT-FINEET B ENEETHBIENE, TR
MERVHEEZOEEREICLIIMEETOT-VIaVEERLE,

>Ny bAT

PCROAY MATEAE[CEDE, Ny bATZEIToT,

>YATLIRR

GPIRUPCRIZEDE, WHROFI IV VIERBEIE M ELERE (EV1-) : [MIEMRIOFEE. [A2] THBAQEX,
[A3)4E) &LT, BRIRYATAERE100ETHB,

>IFUA
TVa-)b Bl
A2 A3 —RT-HDUNEN R RE K- BEYOEHEXTOTRICDOVNTIL, BENXIEE R UEEFER - BEHED

WT. PCROB1. Bk EEEE, B2. ik FRPIUOBEHRYFUAERIKREL:,



E#H&EFS) SUMPO-EPD-2512-39-1

Environmental Product Declaration for Customwood / DSL MDF

>BHETIVY

SuMPO

..E PD

JAPAN

VERIFIED

WNHRETZETDITIVAIIERBEICH VT, 2015FICHF221-I-FV RO AHREHDT-IE2HNTEEETo,

>317891 7)) 70—

| S RF LER || [ s=7ammn
A1-A3 A4 - AS B1-B7 C1-Cc4 D
\ BB | TR | emeR || REERE | ||| sescewees
Al A2 A3
MDFESE
e L h e = e =
HENR FEMKRS HENMKRSN HERKSN

[GF2))

[&77;‘”/§§‘" ] ‘ WEHETOER | menss7oex




Z$3%ES) SUMPO-EPD-2512-39-1 SuMPO

Environmental Product Declaration for Customwood / DSL MDF ‘ , R P -
VERIFIED
OETEHRER
>F1IH1 I IV 2 E5FHmFE R
omssmez [A2]Ex [A3]EE D ERHN
SURZED kg-CO.eq | 2.18E+02  2.11E+01 | 5.85E+01 -
AV ERIE kg-CFC-11eq 2.78E-05 = 2.84E-10 @ 1.24E-06 -
i3 X|d kg-SO.eq = 1.95E-01 = 5.90E-02 = 3.95E-01 -
D PEE PN S kg-SO.eq | 1.34E-01  2.44E-02 @ 2.31E-01 -

HALFEAXIIVMER | kg-C:Hseq  9.11E-03 | 1.26E-04 = 1.50E-04 -
BEEYEFENAM)  kg-CeHeeq = 7.09E-02 | 1.05E-04 = 1.45E-02 -
EE(EYWE(EM) | kg-CeHeeq | 8.53E-03 = 6.84E-05 | 1.71E-04 -

KELEREEM kg-CeHseq | 3.41E+01  3.36E-06 = 9.78E-02 -
B*ii““ilé kg-CeHseq | 2.11E+02 = 5.56E-05 = 4.26E-01 -
K& kg-PO.* eq 1.24E-01 | 2.18E-10 | 3.97E-05 -
imuﬁﬁ(?ﬁﬁﬁ) m?/5 3.88E+03  2.79E+00 | 3.01E+00 -
T #F A (B E) m?/5 1.88E-01 = 5.58E-02 | 7.35E-02 -
ERHEE kg-Sbeq | 2.05E-03 = 8.81E-05 | 3.85E-04 -

>J1T91 WA IRY B SR BIEER

nememz [A2]Enx [A3]&iE D EFRHN
FEBERREER kg | 2.13E+00 2.12E-05 @ 6.94E+00 -
EBERREIRIY- kg | 1.10E+02 @ 6.45E+00 1.63E+01 -
FEFERBEIRIF- MJ | 4.76E+03 | 2.90E+02  7.11E+02 -
BAREER kg | 1.09E+03 5.40E-06 @ 3.51E-01 -
BAERBEIRIF- MJ | 1.22E+02 | 7.35E-03 @ 3.28E+03 -
WRIKDHEE m®  3.61E+03  4.32E-04 | 1.32E-02 -

BEH, CO2(L R EIRMK), Ax, FFE kg | 2.05E+02 | 2.03E+01 | 4.39E+01 -
HIR, FUh, 44.7M/kg, L FEBEFRIRLF- kg | 9.05E+01 @ 6.35E+00  2.26E+00 -
BEd, BRMEERLEY, KX, AFE kg | 6.66E-07  1.66E-13 | 1.11E-07 -

> BREYBIEER
mmsme [A2]EnE  [A3]&E D HEREA
BEREEY kg - - 0.00.E+00 -
mEREY kg = 161E-01 1.84E-07 @ 5.03E+00 -
—RBEEY B kg | 1.69E-09 = 2.96E-16 = 7.20E-02 -
EXREY BIY kg = 1.61E-01 | 1.84E-07 @ 4.95E+00 -
KIMTFAIWIB I 2REEYELRLTVET,
> AHIJ0-ICAT2IRERER
mmmsmz [A2]EnE [A3]&E D EF4
B AR ER kg - - - -
YAV E# L kg - - - -
IRIF-EYA R kg - - - -
BEZEMH SO IRILF- M) ] ] ] )

(ITRIF-[EUBHER 260% )
BERUOED | mmymanss | kg - - - -
(TFRIF- BT
g < 60%) @Hﬂl*”ﬁ\:_ MJ - - - -
EEYOEIL
(EEYORIICL
ST BT H AN
S5OIRILF-EID)

REWEIAHE kg - - - )

EURIRILF - MJ - - - -



2$7|/S) SUMPO-EPD-2512-39-1 SuMPO

Environmental Product Declaration for Customwood / DSL MDF

> LCAEERERICEAT55%RR

JAPAN

..EPD

VERIFIED

ARERTEATIH CEESINTVEA, B RTE, SETO0TRICEFBREBEAICDONT, IDEAV3.1ZFALTWSEH. &

ALMNIDOWTUIEARZFIHRE LEREMZFERLTNS,

{EMREEEE IOV, ERCEIEERANSTELTWIRMBEHFET SN, 2ECHT 3N E RN THY, 3R
T-S OIBENEE TH oD, 2 THREEAN THEL WS EDLRELTEEEE LR,

Q@ ENNIRIEHEIR
> LCAICEEL BB INEEIRIEIR

IRBRITRERPCRIFIEEZF AM - REMBFORZITHEGRE) | ICEIVWTEELLRER, WREMAIM3HY1.05t-

CO2¢Hof,
>HBEEYECRETSIER
EEYEL CAS No.
RIVLTITER 50-00-0

BEMBLUOBRE BN SOERYEOK

ORFENER

@ ZE Xk

BRASNSEEILFREI OSSR

LEYEDEESLVEEEICET SRR, FERREHEE

-1SO14025:2006 Environmental labels and declarations — Type lll environmental declarations — Principles and

procedures

-1SO14040:2006 Environmental management - Life Cycle Assessment - Principles and framework
-1SO14044:2006 Environmental management - Life Cycle Assessment - Requirements and guidelines
-1SO 21930:2007 Sustainability in building construction — Environmental declaration of building products



